"Xerﬁ:. . 2 @

0.1 Fondd Firs? four terms of

xz)a.s' and 3 Conaelli 23,262

:3? 28,0 Lmt_@néz_mw&,_

Cale 24-23 = 3

o '<'+/3-/)3 = S43= %
s = <

03:: §+[3—I)3 = $28=_//

L;‘S"f'("‘y__‘? = (+%= 74

e n 2i5N% = sela= 17"

a® i _3
(2 Lsr)7 < 7

b TR
27 =/ +jd

17 =y alel

8ol =l

()T

Q (=) o

T Py ey TjﬂﬂR_

L = —5
N e

A, = 24/ T = 34T - N
‘.. —-‘JILP‘ ’/-J 3 L =

=y =

e N, V8. ) o [ D
; - A ; i I'd

Qe =SELA) T s 0 J2

BHS)ST = =34+ 90 = /7

”_i’ G "5-"7‘ SR i

A’,s‘//“fmeﬁ.: pfzfm.,,. |

33 '-a,+ e -———-—@

4.L)

7(4,1»34) 3(4, +éd)

"Dy
4

/!v—"}

'7&, Ql'd 24, -A/é’d

7a 34, +;/q’—/5a’—-—o :



(%) ik

2f o= O

B =a, +42)

L= G+ B =—> S, [f-F

: | _ rl o)
i 33 = 3o 13 Ao n O 200=)) of [ Q.
T l, i 51RE
e = K M (2l U N4
2IXG = —3d+34d = 3=
=>>q :.—- Lo Ty :é
A G RCRY . Qo = 20 =
i A A e ﬂ
T G @ Sz ) —Sepatoce = %, 1, 2-
= =3l = 348 = § o =z P
2 Sl % ARRE v Tk I 2= a,+03-Dd

Q;«-%: —3L(5=D6’ = 3+l = /3

A3 = X+ 12()-x)

Qug= X +j2—42 30

2= RA-5  gya0

a-a - /2"‘/’1
- o L a
228 = 255 4 Q5 2,22 a=/9 a,.= 3/

L= O Xl A
M [ o =

s RERLY NS I

By £ 8d

200 /71“_5-'.5 -

&7“714-(_--5‘ : — ;iYO/ :
o | 12 e
7= 9 73%/’_. , TAHIR 's'.—!-’-m —-f ol= 4

ey /9~a +5d

;= (5-So

a, =19 -5¢«)
ty "

'."_>ar ={%-p0 ==/F

'-"\r T .57

Qg = =1 +174)

AT T_AHIR

Gy = —l+ €% =47




Ul e {i WWaLH.: 1VAVLL WAL RS0 e

$7= _'5’77——}- (6)
Sn=. S$7r3

Sn=.65¢0

2 s

=2 =0

I

Ca

3

&

i

|

N

o
i
,oonl ]

= _ :
fener Tear ane 70 Lorm sn AP
188....,= Snap .

-y = 30122 atp=) -

‘a_\_—- 2h)—)= £ )= . atn=>

yd
ol

-

ﬂ323(3)-—/ "-9"1--5‘ 4"}7'-?

A Y T P

Sl
TAHIR MABM

2, s SR ld=t=t/ a’rn= ¢

A= 5 81, -‘/.“.,7:)7-./

GRlo. 20 17,3 ¢
L - e~

L

49@

' 7' ﬂ/- 4 (_z) L oy cip

ar 4/7;-4)0!

2 Is =/ QMW;/ AL = 2

/4;? A

—-Z+/n l)(

Dy =1§ o2 =77 gfcyzl02s -

/#5"-;—7_

L4E+2 = {“— rmﬂ E
JS"Q-I:K [ / "

AT =L T'Y (:m—;)/-h)

NN

3K, ;-,4@ ﬂﬂﬁ(

sl = 40

P :

P

2= /2 nmﬁﬂ_cd%za—_

wi e i g 3

Ay b8 = 3

La a‘;-:.'—'/g_ﬁrﬁ(lk ﬁfﬁamﬁﬁﬁﬁ_

(372 _Tfr ; : /lp

ﬂa 2 —l? n/-.._6

7 d...
ff.':-"(g

a +w-))d e

//-Mm /)3

- _ __,er,,(__@y /)"41

217 = .-—ff'n«*-&

6' é’—-//

—l_> by -w——‘m - fé?)"‘ -f-/$

.5’-9?‘—3 i

c gz A whied fo’??af wk;u,.‘léﬂf



—_Mriff’—yefa——@r——#&l—d—@

Q2 , = —
srponal ), f77 f"’
ol 6,7, /0, .. sz AP

P At (f-tld = 2 Qdoal DY ca,=4 d- 2= '3 - Q’;
-t o
c:? (ol = A, +rd/— A —ED Dy = Qs (- 'A /1_,. 1-%_-‘%_
' ; { 3, '\i{"c{
_%@%@_AJ%@‘%@____*M_@_Q 3 = -
\*3 esf
 C=m = gl G iy il B % T
| TS
s C=220 = (P ) o 7 . Au = 3n+/ L ——
_ , . ,. f: . : f: _'._ & 3% 5"
‘ 7] = (g =r)/ &) ot SRS (.3-»1+I)"
3
(Orwalm; /) Jq/ﬁ
»I—n ('Z—-)’)ﬂp e i : e
: WA *“! _‘,-_-u_f e N o O
. REE i SR ¥
(Pt Ymr-n) - (Lm) sy 1) . Sl s
ik ‘ S=— - 4-c &= o|2=
- Lo . P -‘_f.?{-l-%m = /g_—-é’r.—'ﬂ%’;mr ' i 3 : V/C "=sg '2:8%
: . . == = s
., : % A : =7 ela-b)=(b-c) mF =
BN EE
: B oy i
. K Cled
/ﬁM) aepac = Cté*é;f = Y=ol -
Mﬂ%-&fy._mfg_o é/a-ﬁr.)-_-_— 24aC
‘ St A

= = 2 7 ; s &'-!a’ a’ ’ "‘.b"—.a :_ Lt "I'I £ .
iy r P NG = o | ol=d =1 o a..é &
— < *YJ Y P K ela L _..f @_&ﬁ'
e /loa-aifg__//} 8')‘ ﬂddqu f/-"?M
: = A :
\\ 52-6( = ?'__ '——J: = a_c_:_-_cc_
de 2-¢ (Proved)




	06 (4)
	06 (5)
	06 (6)
	06 (7)

